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SUBJECT: MATH 

BLOCK 4 –ADDING TWO DIGITS + 1 DIGIT 

                

 

Q 1.  Tina  has 25 balloons.  9  of them are blue and the rest are white. How  

             many beads are white ? 

a. 16 

b. 26 

c. 14 

 

 

Q 2. 16 + 9 = ____ , after counting forward from 9  , we get 

a. 24 

b. 25 

c. 26 

 

Q 3.   The addition facts of  8 are 0 + 8 = 8 ,  1 + 7 = 8 , 2 + 6 = 8 ,     

              3 + 5 = 8 , 4 + 4 = 8 ,  5 + 3 = 8   and 

 a.  7 + 2 = 9 , 8 + 1 = 9, 9 + 0 = 9 

 b.  8 + 0 = 8, 7 +  1 = 8 , 6 + 2 = 8 

 c.  8  +  6 = 14 , 6 + 2 = 9 , 8 + 3 = 11 

 

 

 Q 4.                   3  8 

       +     ___4 

                 3  4 

                   This method of  addition   is  by 

a.  Expanded form 

b.  Column method 

         



 

 

 

Q5. While adding , first we start  adding  from _______________ 

a. Ones column 

b. Tens column 

c. Both columns 

 

 

Q6.                                                

a. (5 Tens + 6 Ones )  +  ( 0 Tens  + 8 Ones)   = (4 Tens + 4 Ones) 

b. (5 Tens + 8 Ones)   +  ( 0 Tens  +  4 Ones ) = ( 5 Tens + 4 Ones) 

c. (5 Tens + 8 Ones )  +  ( 0 Tens  + 4 Ones )   = (6 Tens + 4 Ones) 

 

  Q7 .               38 

           +     ____3  , The answer is 

 

a.  68 

b.  41 

c.  35 

 

Q8.  Zero is also named as  , nought , zilch , zip and  

  

a. naught 

b. digit 

c. value 

 

                             

Q 9. 74 + 6 = 82 

a. True  

b. False 

c. None of the above 

  



 

 

Q 10. When we add , the answer we get is called ______________ 

a. Addition 

b. Minus 

c. Difference 

 

Q11.  27 + 7 = 34  is an addition  ______________________ 

    a.  With Regrouping 

    b.  Without Regrouping 

     

Q12. While adding , first we start  adding  from _______________ 

a. Ones column 

b. Tens column 

c. Both columns 

 

 

Q 13.  16 + 9 , Adding  by expanded form ,we get 

a.  2 Tens and 0 Ones 

b.  2 Tens and 5 Ones 

c.  9 Tens and 6 Ones 

 

 Q 14.   Sheeba has 43 dolls and 9 toy cars .    

             How many toys does she have in  all ? 

  a. 70 

  b. 54 

  c. 69 

 

Q15.  When we Add 38 + 4 , we get 

 

a. 112 

b. 712 

          C.  42 

 

              X________________x _______________ X 


